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FUIT GIARTT R fF 57 qe7 97 # Flad 955 a&gqr # 17 &
IR 5TH 30 F97 &/

Please make sure that the printed pages in this question
paper are 17 in number and it contains 30 questions.

o o7 GF & &Is N I3V T FF FAFaY FI BI7 GANT IR-GedHT
& Ggel go3 G¥ fer@r ST aATfeTl

The Code No. on the right side of the question paper should

be written by the candidate on the front page of the answer-
book.
o [FH goT FT 36X Gl YF FNel & Ugel IHHI FHIF [o1GAT §1TT

Before beginning to answer a question, its Serial Number

must be written.

o YA 3% GRETH H GIell Goadl /9ot T B3/



Don’t leave blank page/pages in your answer-book.
IR-GRETHT & HIARFT  #ls 379 flc gl & e e
HTIFAFAR 61 feld T 0@ 3¢ &l o FIc/

Except answer-book, no extra sheet will be given. Write fo
the point and do not strike the written answer.

GO ITT el AGX ToA GT G HTIT ferd/

Candidates must write their Roll Number on the question
paper.

HGIT Jos7] & IR 4 & qd g GlARIT &Y o 1& o797 qof
g TE &, geT ¥ IWIT 3 At A FiF #t grar w&Hr 78T AT
oTTIT/

Before answering the questions, ensure that you have been
supplied the correct and complete question paper, no claim

in this regard, will be entertained after examination.

AT Rder

(i) Tt geT faart &
(i) a&glava el & &gl aFeyq ford/
(iii) A& ToT @ 3 36D HH T T[T &

General Instructions:

(i) All questions are compulsory.
(ir) Write the correct option in objective type questions.

(i) Marks of each question are indicated against It.
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SECTION - A
(st faremmer)
(Physics)
o T SHIS FAT 8§72
a) #Hex
b) STef
c) #geat
d) sfeds

What is unit of force?
a) meter

b) Joule

c) Newton

d) Kelvin

rfaf@a & S a1 &1 A T8 £2

a) [l

b) ¥ggaT HIeX
c) freltare
d) fareliare ger

Which of the following is not a unit of energy?
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a) Joule

b) Newton meter
c) Kilowatt

d) Kilowatt hour
agHSS gdl @ AT STh3T §3T & 1
The atmosphere is held to the earth by

fadta & eafar & aifq Far 872 1

What is speed of sound in vacuum?

fafoaa 99 H o $aa §: ATFFUT (A) 3R SROT (R),

T & d e T 39 Qhegd FT T FA U 3R

afaT| 1
HARYA (A): TgAT T FAg W &l AP Th-gaR § o1
e T THh &

HRUT (R): TgGAT W SIS ATATEROT AT g

a) A dR e T g a7 R, A Fr T@gr =ar@ar gl

b) A d R Gl T § dUT R, A &I Tgr SI@aT el ¢l

c) A §T § Wd R 38T ¢l

d) A 38T § W R &7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.
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Assertion (A): Two persons on the surface of moon

cannot talk to each other.
Cause (R): There is no atmosphere on moon.

a) Both A and R are true, and R is the correct

explanation of A.

b) Both A and R are true, and R is not the correct

explanation of A.
c) A is true but R is false

d) A is false but R is true.

Teh Cloll Ueh 37Te0d dof WX 2 ms2 3 caluT & A 7 WY 2
AT IR el o 3 s o T 3THT A9 AT gEMM? 2

A trolley, while going down an inclined plane, has an
acceleration of 2 ms™. What will be its velocity 3 s after

the start?
qlel Ud 99T H 3R dd1sy| 2
Distinguish between speed and velocity.

3gar

Or

ThHATA g i &1 §? Teh 3ETe]0T G| 2

What is uniform circular motion? Give an example.



10.

eafey & @i @ 3Mgfd 100 g §1 Ig Ueh [AeTe 7 fohcwsll

I YT T &7 2

The frequency of a source of sound is 100 Hz. How

many times does it vibrate in a minute?

=gco &1 A A @ FIH IASU| sHFT AOAT TF; F

= ma ageod | 3

State Newton’'s second law of motion. Derive its

mathematical formula; F = ma.

fArAfafEd &1 aRA™T & 3

b) erfFd
C) Foll TETOT &7 fags
Define the following:
a) Work
b) Power
c) Law of conservation of energy
3gar
Or

20 fhell geTHAT W S Fld dTell HIS §of 34b dIT A 5
ms' & 2 ms' o dGof &l ¢l ST GaNT U AT H A
IAUTT FIfSAT| 3



11.

Certain force acting on a 20 kg mass changes its velocity
from 5 ms” to 2 ms”'. Calculate the work done by the

force.

a) ecarhyuT & HIGHIAE [@TH 1 gard| s g7 faf@u|
3

State the universal law of gravitation. Write its formula.

b) G FI IRHANT H| TR AT TGT| 2

Define G. Write its value.

37ar

Or
a) NTHASIST #1 Fetia IRAMNT HI| $Hb T IguAlT
fom@uT| 3

State Archimedes’ principle. Write its two applications.
b) GeIdATT 3R UR & &I 3R HL| 2

Differentiate between mass and weight.

gs-
SECTION - B
CGIECREEIG)

(Chemistry)

12. fArafaf@a & @ 9 fevsar ysg &1 vefiia s Tehar g7

1



13.

a) JdHS F Qe

b) qu

c) dr & faerdst

d) IRAT FT TAerTeT

Which of the following can show Tyndall effect?
a) Salt solution

b) Milk

c) Sugar solution

d) Urea solution

100 °C WX ST fr #ifaes 3raeem war gef?

d) gt a) 9 b)

What will be the physical state of water at 100 °C?
a) Solid

b) Liquid

c) Gas

d) Both a) and b)



14,

15.

16.

& FATYIAS HT 3T WA 7T F
ST o ¥T H gidr gl 1
An isotope of is used as fuel in atomic
reactor.
HCHIH FARTSS @l THEAS I faf@T| 1
Write chemical formula of calcium chloride.
fAtaf@d uead & ar 3 §: JAFeaaT (A) 3R FROT (R),

g & A QY T IuYFd fahed FT TFA A U IR
Aol 1

HARYA (A): PR HT YA FHR & FAh Pl H tré‘ir
ST g1

HROT (R): IET & THYUT & HR-3701Tadh ol Ta FHeT gicd
gl

a) Ad R 3l I § 9T R, A &I &gI <JrEn gl

b) A d R Gl T § dUT R, A &I Tgr SIr@aT =Tel ¢l

c) A §T § Wd R 38T ¢l

d) A 38T § W R &7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.

Assertion (A): Fragrance of incense stick reaches to

every corner of the room.
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17,

18.

Cause (R): Intermolecular forces of attraction are lowest

in gases.

a) Both A and R are true, and R is the correct

explanation of A.

b) Both A and R are true, and R is not the correct

explanation of A.

c) A is true but R is false

d) A is false but R is true.

gARY 807 va ARl For # 3R Tose fifsw 2
Differentiate = between  homogenous mixture and

heterogenous mixture.

it e & AY IR & WH] AlST H Th IHRY Q|
2

Draw a sketch of Bohr's model of an atom with three

shells.
3gar
Or
Fréet AT BRI TR F g B Reor @)
2

Write the distribution of electrons in carbon and sodium

atoms.
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19.

20.

21.

fArafaf@a agaAET wr afcaad sos &7 gRafda &3 3
a) 300 K
b) 573 K
c) 483 K

Convert the following temperatures into Celsius units.

a) 300 K

b) 573 K

c) 483 K

s, SefeT 3R =g & it Y qoe Y 3
Compare the properties of electrons, protons and
neutrons.

STeced & WRAT] fAUTd H Fase HIfav| 5

Explain Dalton’s atomic theory.
3t
Or

a) fArafaf@a Aot # dAgTAT daat & a7 Jasu| 3

i) T oI §3 T
i) Sfher 3=
Give the name of elements present in following

compounds.
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i) Quick lime

i) Baking powder

b) fArAfai@d & 3M0as gegdAT adsv| 2

i) H,O

ii) HNO;

Write the molecular mass of the following:

i) H,0
ii) HNO;
s ¥
SECTION - C
CICREEID)
(Biology)
22. Trfaf@a # €@ fhds IR 3R Tho [Heol &1 3TEROT
gl &7 1
a) ATSTIHIegaT
b) g
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23.

24,

d) odes

Which of the following is covered by a single membrane?
a) Mitochondria

b) Nucleus

c) Lysosome

d) Plastid

ef@a & O Fi9dr A I T Tdg I Held gred
Sl 87 1

Which one of the following fishes is a surface feeder?
a) Rohus

b) Mrigals

c) Common carps

d) Catlas

qf g 7 & AT BHS F _ FASA e &1 1

The crops which are grown in rainy season are called

crops.
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25. i @ RART AT & 3URTTAT 39t & R Srdr &7
1

Which cells are found in the cartilaginous tissue of the
body?

26. TAFAfaf@d 92T H & & g APAA (A) 3R SROT (R),

g & A QY T IuYFd fAhed FT TFA A U IR
Aol 1

THPUT (A): TIT Fde I&Fd dllgal3T & IRT 3R 9r=AT AT
gl

HRUT (R): FE Fcleh Teh Faloleh o &7 H o S il &

a) Ad R 3l T § 9T R, A &I Tgr <Ir@an gl

b) AT R Gl T § AT R, A &I Tgr SIr@aT =1af ¢l

c) A I § WJ R 38T &l

d) A 38T § R R a7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.
Assertion (A): Adipose tissue is found around the

blood vessels.

Cause (R): This tissue also acts as an insulator.
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27.

28.

29.

a) Both A and R are true, and R is the -correct

explanation of A.

b) Both A and R are true, and R is not the correct

explanation of A.

c) A is true but R is false

d) A is false but R is true.

s et (et o ST Y FRT W A ¥ 2

How do storage grain losses occur?

Teh 9Toft RIfAHT FT ATHIThd T T 3
Draw a well labelled diagram of an animal cell.
frfaf@a sraeamit & fufa # = ey Adedar g2

3

a) STe STE{ ATETH T Jolell H HIfART & M 31T Arear
aTell STeT 81T &

b) ST ST AT T Jolell H FIAST &F A HA AT
arell STl g g

C) ST HITADT & 3GT T 3Hoh dIg ATETH H STl hl ATgdl
AT Il &l

What are the consequences of the following conditions?

(a) A cell containing higher water concentration than the

surrounding medium.
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30.

(b) A cell having low water concentration than the

surrounding medium.

(c) A cell having equal water concentration to its

surrounding medium.

3T

Or
Gl 3ideed sferar ta Rt sidgedt shfoer & 3R
Tgse HIfAT| 3

Differentiate between rough and smooth endoplasmic

reticulum.
a) &, INTET AT FHIfss (geIsh) IRAT # W # [&Uq
P iR TAH & 3IMR W AR TIC Hi| 3

Differentiate between striated, unstriated and cardiac
muscles based on their structure and site/location in the

body.
b) T4 & T HA &7 2
What are the functions of the stomata?

AYgar

Or

a) FfAr AT F MR W RewsAr, Pleedhear iR
TFRTHISAT & dd AT TISE Y 3
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Differentiate between parenchyma, collenchyma, and

sclerenchyma on the basis of their cell wall.
b) sI0sT &I AATRT =T F=C| 2

Draw a labelled diagram of a neuron.
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